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17P/207/17 Sect No. 1

No. of Questions /Uyt & 54T ; 120

Time /894 : 2 Hours /902 Full Marks/qUTi® : 360
Note : (1} Attempt as many questions as you can. Each questiorn carries 3 marks.

One mark will be deducted for each incorrect answer. Zero mark will he
awarded for each unattempted guestion.

wﬁmﬁmmﬁﬁmmﬁwmﬁlmmaﬁmﬁim

WH%?&W@FWWWIWW&HWWWW
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(2) If more than one alternative answers seem to be appruximate to the
correct answer, choose the closest one.

ﬁmmmmm%ﬁmﬁmﬁ,ﬁﬁmﬂnﬁﬁm
4

1. Which one of the following planets does not have any satellite?
{1) Jupiter (2) Venus (3] Neptune
Frerias 4 @ fem g 1 # awme w@ 27

{1) qewid 2) & (3) = (4) =

(4} Uranus

(31} 1
(P.T.0
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4.

(31)

In constitution of the Earth ‘Sima’ forms

{1} top layer {2) second layer (3] third layer (4) bottom layer
yeelt ot e A w2
(1) ¥ *w 2) ferfm = (3) g A (@) N w®

Which among the following planets has the maximum average density?

(1) Venus (2) Jupiter (3) Mars (4) Saturn
i o @ frg g & aitma e fusad 27
(1) I (2) FEO (3) HA (4) W

The tidal theory related to origin of Earth owes 1o

{1} Chamberlin and Moulton (2] Hoyle and Lyitleton
3) Russell and Littleton (4) Jeans and Jeffreys
c@-ﬁmﬁamﬁaw{mm%w%

(1) Fwrfer vd ez (2) B @ fergeted

@) ww @ fofeeer (4) vFa T I

Which one of the following planets is nearest to the Sun?

(1) Pluto {2) Mercury (3) Jupiter [4) Venus
—y A R AR

(1) =2 (2 (3) Fewia 4) TF
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6, Which one of the following elements contributes most significantly in
composition of crustal rocks?

(1) Aluminium {2} Silicon (3) Oxygen (4) Iron

7l wgAt @ A A § @ few om @ dem weifuE 27
(1) wegffm (2} fafonia (3) i (4) wig

7. Monadnocks are formed in which of the following stages of normal cvcle of

erosion?
{1} Initial [2) Young (3) Mature {4) Old
T WA S u % P § 3 Ry w § Bty w27
(1) Sefeses @) F (3) W3 4 T

8. Nappes are asscciated with
(1) faulting (2) folding (3) fluvial action (4) glaciation
T g 3
(1) 999 & (2) Jom & (3) T frm & (4) Rt fear 4

9. “Cavern’' is characteristic of

{1} glacial topography (2) marine topography

(3] karst topography (4) arid topography

R R

(1) ot wests # 2 g Teami H

(8) F WEIFR A (4) Y TR §
(31) 3

{P.T.0)
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10.

31

12.

13.

14.

(31)

Frost action is related to which one of the following types of weathering?
(1} Physical (2) Chemical (3) Biological (4) General

g fFm e s wEnl O @ Reed wwfRm Re

(1) wHfe (2) Tl (3) Wfaw (4} HHTA

Which one of the following planets has greater volume but low density?
(1) Mercury (2) Venus (3) Jupiter (4) Mars
frafafier w8 4 @ #9992 U9 W FH wAE Fer 27

(1) 34 2) 1% 3) gewaf (4) T

In the structure of the atmosphere, mesosphere lies between

(1) thermosphere and exosphere (2) stratosphere and thermosphere
{3) troposphere and stratozphere (4) ewosphere and ionosphere
IHIES 1 BUE 0 HeWvsd fd @ —— W H)

(1) AIHIER TG SRS (2) GHATTRYSE Ud T9ANST &

(3) HWUET U RS & (4) WTEEVER Td AEAWEA F

Radio waves are reflected in which one of the following atmospheric layers?

(1} Exosphere (2) Troposphere (3) lonosphere (4} Stratosphere

fafr a0 e argveeia W 0§ R giarefeE @l g7

(1) SEvEH (2) &hHER (3) HFRAUEA (4) THATIHOSH
Coriolis force is extremely weak at
| (1} tropic of Cancer (2) Equator
{3) Poles (4) tropic of Capricorn
4
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wifeifee 7a smafus Faw g 2
MFHFWR 2 FERG@R (3 Yd W (4) W tE W

Wind deflection is caused by

(1} difference in air pressure (2) difference in humidity
(3) rotation of Earth (4} Coriolis force

Tl d Rees & = far 2

(1) ag =z & = (2) amdan o 3=

@) gl = o (4) T

Natural levees are the outcome of the depositional work of

(1} wind (2) glaciers (3) rivers ' (4)  groundwater
Wi qeay aform B ¥ —— SuE R w9
(1) &0 % 2 forelt % () =Rt & (4) -9 F

Given below are two statements. One labelled as Assertion (A} and other labelled
as Reason (R). Select your answer from the codes given below :

\A) The thickness of the troposphere is the greatest at the equator.

(R} Near the equator insolation is high and convection currents are
strong.

(1) Both (A] and (R) are true and (R) is the correct explanation of (A)

{2) Both (A) and (R) are true but (R) is not the correct €xplanation of (A)

(4) (&) is false (R) is truc

————

(P.TO)
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18,

19.

20.

31

A TR oW R B F () o g H o (R) F WA femn wm 21 AN
(A) #ivvge i wied fagen ta wowetfes R
(B) Tagears t@r F e amve 3= w6 gew ool 3w §

(1) @ 3 (R 3 w8 ¥ @ (®), (4) B @ aen

(2) (A) 1 () Qi 8 ¥ WA (R), (A) F TE =men T8 R
(3) (A) WE1 § (R) eI ®

(4) (&) T R (R) W R

The tropic of cancer in India passes through

(1} Nagpur (2) Allahabad (3) Ranchi (4) Lucknow
T tan qg et @

(1) ATTgE (2) ST (3) (4) TGS

Which one of the following is responsible for movements of the earth crust and
occurrence of earthquakes?

i1} Terrestrial forces (2) Tectonic {orces
(3) gravitational forces (4) mountain building forces
frafefigs 1 @ 37 WA & TURF W F9 % 9w 3R % fae soeeh 27
(1) witha &t (2) ot ==
(3) ToAEHE T (4) vk Fmforet ww
Salinity n the ocean is depicted by
isohyet (3] 1s0ryme - ;
(1) isoncphs (2) 1500Y | {4) isohaline
6
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AEETR H wavEl uidt St @
(1) SERAR T (2) AREER G0 (3) JRENR T o AREIRARA g

Mozambique current is a part of

(1) South Pacific Ocean (2) North Atlantic Ocean

{3) Indian Ocean (4) North Pacific Ocean
Trere® 9 T 9 2

(1) e s TERR @ (2) I 39 wEER =

(3) R v =\ (4) 30 g9 WERER w0
Which one of the following is the warm current of Atlantic Ocean?
{1} Canary current (2} Benguela current

(3) Agulhas current {4} Brazilian current

e & & 9 sewie wemrm £ w T w27

(1) &1 sm (2) STUA 9 (3) UEM HR [4) IR am
Given below are two statements. One labelled as Assertion (A) and vihict fabciled
as Reason (R). Select your answer from the codes given below -

(A] The general movement of the Ocean current in the northern
hemisphere is clockwise and in the southern hemisphere s
anticlockwise.

(R} The Coriolis force is a deflection force that follow Ferrel's law
(1) Both (A) and (R) are true and (R) is the correct cxplanation of (A}

{2) Both (A} and (R) are true but {R) is not the correct explanation of
(3} {A) is true (R} is false
(4) (A} is false (R) is wrm— ————_

(A)

7

PT0y
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24.

15.

26.

(31)

3 wR R ¥ w w wE (A) R gR W AW (R) B &0 A e omn j AR
ffu m Hz B wd I g

A) 30 e § g el @ g deen afered aw el T ¥
awrEd g 8l

{E]ﬁﬁsﬁmm%ﬁmaﬂ%aﬁmﬁmmwﬁ?m%
(1) () 3 (R) 31 W & W (R), (A) B @ e
(2) (A) 9 (R) A A § Y (R), (A) B & BN T 2
[9) (A 78 & (R) W R}
(4) (A) T & (R) TR

Which one of the following are not pastoral nomads?

(1) Pypmies (2) Kazaks (3) Masai (4} Lapps
frm 4 & s Tyt m@wEEm @ 30
(1) fomiis (2) FeTEE (3) W (4) o

‘Kols” of lndia and * Veddah' of Sri Lanka belong to which one of the following

races?

{1} Negro [2) Australoid (3) Mongoloids (4} Negriio
Y ¥ we T dEe Jr7 Freifeiag worfedl # & el i 22
(1) St (7} ARTHE (3) WTERE (4} A

The highest percentage of the tribal population (as per Census, 2011) consists

of

WL L R J ifiaﬂthals d) MNagas
(1) Bhils {2y = ) ) Nag
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S S @ wetE SRR (SR 2011 % s @ 2
(1) et g (@) gerit gm (@) durd gm @) it g

Whe among the following advanced idea of scientific determinism?

(1) Huntington  (2) Brunhes (3} Blache {4) Tayior
ﬁnﬁﬁﬁmﬁhﬁsﬁwﬁaﬁmﬁMﬁm?
(1) &féme (2) 5 (3) = (4) T

Which one of the following SAARC countries has constitutional provision for
70% of its geographical area under forest?

(1) Maldives (2) Afghanistan
{3) Nepal (4} Bhutan

ﬁqmﬂii‘?ﬁﬁﬁf&mﬁmﬁ;%ﬁﬁ&h%?{}%ﬁﬂfﬁﬁﬂmﬁa‘ﬁ%?ﬁﬂ
Faie S 29

(1) orerda (2) IEmEE (3) 9 (4] @A

Japan, a developed country, is almost self-reliant in which one of the following
minerals?

{1} [ron ore 2] Coal (3) Copper (4} Bauxite
w,wﬁmﬁ?ﬂ.ﬁqﬁﬁaﬁﬁaﬁﬂﬁﬁmﬂmﬂmﬁﬁz%?
(1) ¥e e (2) Frgem (3) afa (4) s

Which one of the following countries exports

1 the highest percentage of its tota]
rice productiony?

{1} China (2) Vietnam T T eessia g Myanmar

o (P.T.0,)
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ﬁﬂhﬁﬁﬁﬂqmﬁaﬁamwm@mﬁwﬁaﬁw%?
(1} =H (2) FeraeH (3) et (4) IR

31. The concept of quaternary activities was propounded by

(1} C. F. Jones (2) E. Murphy

(2} Jean Gottmann {4} Carl O. Sauer
TReF feail 6 weveu shfed # T oA

(1) Hio Tho WA FH (2) $o whl g

(3) S MR R (4) A o TR G

32. Which one of the following is a renewable source of encrgy?

[1) Natural gas (2) Crude oil

{(3) Geothermal energy (4} Coal
ﬁﬂﬁﬂﬁﬂﬁwﬁﬂﬁfﬁmmﬂﬁm%?

(1) Yepids TH (2) =i T (3) g w0 (4) HIAA

43. Which one aof the following countries has emerged as the second largest
producer (in ierms of percentage) of coffee in the world?

{1} Vietnam 2} Brazil (3} Columbia (4} Indonesia
ﬁmﬁﬁﬁﬂﬁﬁﬁﬂ%ﬁ%mﬁﬁ%m(ﬁm@aﬁ%]%m
# IS R 7
) frrem 2y et (3) i (4) e

10

(31)
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Zimmerman's concept of ‘phantom resource’ refers to

(1} minimum use of resources

(2} maximum use of resources

(3) efficiency-based use of resources

4} miserly use of resources

i = Fem wwaa’ fagrg w T #

(1) "o & Fees Iggm (2) HEEET W ISR I9Em

(3) HANET F a3 I9A {4) e B HeEIgY 39

Which one of the following steel plants of USA is primarily based on imported
raw material?

(1) Sparrow Point (2} Detroit

{3) Burns Harbor (4) Seattle

ToWete & = o wwamt § § # wgEe: smfe w9 o W oy 27
(1) ¥ =me (2) Fw (3) % gkt (4) Rra

Which one of the following courntries of Asia has the highest percentage of
cultivated area under irrigation?

(1} China (2) Pakistan (3) India (4) Japan
q&m%ﬁm%ﬁﬁ%#ﬁmﬁ@ﬁﬁ%ﬂwmuﬁmﬁiﬁaﬁ%m%?
(1) (2) T (3) v (@) STm

11
(P.T.0)
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37.

38.

39.

(31)

Which one of the following countries records per hectare highest yield of wheat
in the world?

(1) China (2) USA (3) France (4) Australia

B 3 & 3 9 fvm § A @ 9 do walf T w37

(1) = (2) FoTHoTo (3) ®i| (4) wiefomm

Which one of the following is not a major tectonic landform?

(1) Block mountains ' (2] Volecanoes

[3) Subsequent stream (4) Basins

frfafias § @ #7 o owE Pedte ek T8 87

(1) faftog (s=i®) oda (2} SETATHE!

(3) Wi 7 (4) ot

The stream having direction of its flow opposte to that of ihe original

consequent slope is termed
(1) obsequent stream (2} consequent stream
(3} subseguent stream (4) insequent stream

Hﬁﬂf{ﬂfﬁ?ﬁ@ﬂ%ﬁwﬁﬂﬁwﬁﬁﬁ%ﬁﬁﬁaﬁﬁﬁaﬂ%ﬁﬁ
() EEd T (2) sEdi W (3) wEd (4) ST T

During volcanic eruptions deposition of lava in anticlines and synclines of
folded mountains accounts for formation of

(1) Batholith (2) Phacolith (3} Lopolith (4} Laccolith

12
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SENEE M ¥ 9 WMEER THhl o aTfedt we sl § aen % s
o fiffa g 2

(1) aeferer (2) Seniferg (3) ey (4) WAy

When two parts of a rock slide in front and one part rides over other the
resulting feature is termed

(1) lateral fault (2} step fault {3) reverse fault (4) normal fault

TG TN AN G W-TTH et € O @ Ei T m awifw @
e B, @t wfomreen e ol @ wwa @

(1) et ym (2) @ort yw (3) SERY W {4) SR WY

The amount and intensity of monsoon rainfall is determined by the frequency of

(1) western disturbances (2) dust storms

{3} eyclones (4) tropical depression

T a9t it e v e Pt @ 2 arEm g

(1) wivsfi faaiy & (2) Y& w3 &

(3) T & (4) 301 sieatfy T (zE)

The principle of isostasy based un uniform depth with different density is
propounded by

(1) Hayford {2} Pratt (3) Joly (4) Airy

ﬁﬁam%mmmﬂwmﬁﬁmmﬁa%mwé

(1) &wid g (2) %2 @ @ ==t gRy 4] @ g
13

(P.T.0,)
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44,

Match List—] with List—Il and choose the correct answer from the code given

below -

List—I {Landforms)

List—I1 {Agents of formation)

(a] Faults (i) Glacial activity
(b} Flood plains (i) Organic activity
fc) Coral reefs (i) Earth movements
{d] Moraines [iv) Fluvial activity
Corle -

(a) b} e} (d}

(1 (1 {i) v

() G v ) @)

(3) {i) fii) iy (iv)

(4)  liv G () (i)

1 # gl @ gif i our f9 RE T g A W I FEC
gl —1 (Ryerpfadn) g1 (P % #1%)

() ¥ (y femrlt ot
(b) TG & HGH (i) W G
() T fafa (iii) Y -TEIeH
(d) A (iv} %8 foha
FT

() (bj (c) (d)
{1 (i) {1y (1i1) (iv)
2wy @ @
(3) (i) fii) iy )
[4) iv) (i) (1) (i)

14

(31
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Which one of the following States of India has almost monopoly in production of
zinc?

(1) Tamil Nadu (2) Uttarakhand
(3} Rajasthan (4) Andhra Pradesh

s ¥ frffer T @ R s % T § e R 27
(1) wfierg (2) SeRTES (3) TR (4) APERT

The maximum gap between male and female literacy in India (as per 2011
Census| found in the State of

(1] Rajasthan (2] Bihar

{3} Madhya Pradesh (4) Uttar Pradesh

wmﬁw@nﬁwmmﬁmw{mﬁ,gmi%m)w
Sl

(1) TeEaR ¥ (2) fomm # (3) wexwaw ¥ (4} I wew &

Which one of the following States of India has the highest percentage of
scheduled castes but no tribal population?

{1} Himachal Pradesh (2} Punjab

(3) West Bangal (4) Bihar

m%ﬁmnﬁﬁﬁﬁ:ﬂﬁmﬁaaﬁmmﬁﬂﬂawwm
T 37 | '

() femes wew (2) T (3) Wom T (4 fn

(F.T0]
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48. Which one of the following pairs is not correctly matched?

Cement Factory State
(1] Sikka Gujarat
(2} Bela Madhya Pradesh
(3] Sioty Rajasthan
(4) Dalmiapuram Bihar
fiot gt & 9w w8 27

e T =4
(1) e T
(2) = LEpe
(3) frret TRYH
(4) SN foremt

49, The luwest per hectare production of wheat is obtained in which one of the
following States of India?

1) Uttar Pradesh (2) Haryana

(3) Madhya Pradesh (4} Rajasthan

& Fr Tea # A fred T @ of o Somen Fiwem i W R7
(1) 3™ e (2) wREmm (3) weAwEE (4) T

50. Mergui Archipelago, which was colonized by Japan for three years (1942-43) 1s
situated along the coast of

(1) Myanmar (2} Indonesia (3) Malaysia (4) Singapore

16
(31) .
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mii omiFtEm, Wt @ W (1942-45) 9% WA % UG ¥ wY § @, flém 3
— & 727 m|

(1) = (2) sreiErEn (3) weifim (4) T

Which one of the following Indian Ocean Realm countries accounts for about
98% of its export through Ocean?

(1) Kenya (2] South Africa (3] Australia (4) Yemen

gfa%mém%ﬁﬁﬁmgsaﬁﬁaﬁmﬁﬁam%wﬁ
?

(1) = (2) <hm s (3) sRfomm (4) T

The highest percentage of GDP (in terms of value] in Maldives 1s obtained from
f{l) Manuiacturing (2) Agriculture

(3} Transport and comtnunication  {4) Tourism

e H BhE WE, Iie (shodlodie) W ymw WfavW (rw g @) ww aar @
(1) @& fwir sam & @ i &

(3) figes vd d=w @ (4) Wi B

Which one of the following is not correctly matched?

Country Fort
(1] Somalia Berbera
(2] Yemen Mocha
(3) Australia Port Elizabeth
{4) Sri lLanka Trincnmggp
17

(P.T.0)
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54,

29,

56.

fr & @ w g T 27

&3 GG
(1) grenfern 36
(2) ¥ TirEn
(3) wre SiRUEEICE
(4) s frermeh

The population density obtained through division of total population of an area
by the total agricultural land is termed

(1} apricultural density {2) physiological density

(3) arithmetic density (4) economic density
Whﬁ@@ﬁ@aﬁ{ﬁﬁﬁ#ﬁﬁﬁﬁ%ﬁ%waﬁm
T 2

() =8 e (2) FIFRF e

(3) FFEE g9 (4) it ==

Of the top ten most populous countries of the world, Asia has

fvg ¥ 9 29 waifoE sweEn g 2at § & o & 2

(1) 4 (2) S (3) 6 (4) 7

Which one of the following countries has recently recorded maximum decline in
population?

(1} France (2) Sweden (3] Japan (4) Bulgaria

Wﬁﬁﬁﬁ%ﬁmﬁmmﬁaﬁwqmaﬁaﬁm%?
(1) % (2) e {3) s 4y wE
18
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Which one of the following has been declared as the World Popuiation Year?
TfeRae d & B faw sgem o 9ifte s man &7
(1) 1972 (2) 1973 (3) 1974 (4) 1975

Who among the following identified five stages of economic development in the
world?

{1} Ashley (2) Grass (3) List (4] Rostov
frofafes & @ e fawa 3 arfifs w5 o9 wd/9ol & weR fF?
(1) T (2) (3) e (4) Teara

Who treated imbalanced ['E-‘C‘.Gﬁﬂmi(‘.‘] growth 8% a pre-requisite to econormc
development?

(1) Hirschman (2) Perroux (3) Rostov © 4} Myrdal
Fge smgfom (snfie) 9fz ot afdfe fawm & fou s omns
(1) & (2) T8 (3) U=im (4) yow

Who among the following has not been associaled with works in the BBl at
regional development and planning?

f1) L. S. Bhat (2) V. L. 8. Prakash Rag
(3} C. R. Pathak (4) R. L. Singh
ﬁmﬁﬁﬁqmﬁm@ﬁﬁm%@aﬁwﬁﬁmﬁﬁﬂ?
(1) Telo THo Wg (2) 9o W Wo yETy g
(3) dlo 9o IH () >~ . g

19
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61.

62.

31)

Given below are two statements. One labelled as Assertion (A) and other labeiled
as Reason (R]. Select your answer from the codes given below :

(A} Uttar Pradesh is the most populous State of India but it 1s not at the
top in terms of development.

(Rl The State is characterized with regional disparities in levels of
development.

(1) Both (A) and (R) are true and (R} is the correct explanation of {A)

{2} Both {A) and (R) are irue but {R) is not the correct explanation of (A)

(3] {A) is true (R) is false

4] (A 1s false (R) is true

ﬁwﬁﬂwﬁluﬁﬁmmgmaﬁiqﬁaﬁm(ﬁ}é‘ﬁmﬁﬁmw%iﬁ%
(A) T T WIE W waEihE S A T § g fas g ® R i

T 2

@) Ta frEm ¥ A og # e fea ot e

(1) (a) ot (R @ W@ & @ (R), () B T emEn 2

(2) () @i (R) 3t wE g (R), (o) B saen T R

(3) (A) = } (R) Tewd @

[4) (A) T ¥ (R) TR

Which one of the following is not an indicator of development?

(1] Per capita consumption of electricity
[2) High literacy rate
(3) High land productivity
(4] High hirth-rate
20
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= d 8 R w fom = s 7 27
(1) it =afe fage 3gam (2) I WSS &
(3}331{[1‘;@33@1 (4) 3= SH-F

Which one of the following is not an Inter-State Regional Plan?
Y} South-East Resource Region Plan

(2} Royal Seema Plan

(3] Western Ghats Plan

(4] National Capital Region Plan

=B W e sawefis frew w27

(1) zEm-udl sanm &7 feem (2) o i Frrem

(3) vfeft arz friem (4) W T 87 (Wodtoamme) figrerm
Which one of the following is not used as a variable for measuring Human
Development Index?

(1) Literacy {2) Per capita GDP

(3} Urbanization (4} Life expectancy

frs 4 %mmm‘mumdﬁmzﬁm;w#fmaz%mﬁaﬁ%w

(1) T (2) Wi ofeR Hodetto
(3] Tl - (4) ST e
21
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65.

66.

6T.

(31)

Which one of the following pairs is not correctly matched?

Rivers Dams
(1) Mahanadi Hirakud
(2} Damodar Matatila
(3 Chambal Gandhisagar
(4} Tapi Kakrapara
Fred gl § & i gifeg o 27

Tigat Y
(1) et R
(2) ZmTE e
(3) T TR
() ardl Eacaii

Which one of the following energy sources contributes maximum to the power
seotor?

(1} Hyrel (2) Nuclear (3) Thermal (4) Wind
o wol gl f & F1 ufE @ve B e TEE g 7
(1) i (2) I (3) arf @) =%
The location of Hindalco at Renukoot (UP) basically owes to its proximity to
(1) raw material source (2) vast market
{3} abundant power {4} cheap labour
Rz B e (30%e) ¥ srafeufy @1 9g@ FO @ FRe
Llja-,-a:“xqrﬁa:.aiﬁﬁ (2) fowme aem 8
o i s i
22



695.

70.

71.
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Which one of the following is the leading producer of coal in India?

(1) Jharkhand (2) Odisha (3) Chhattisgarh (4) West Bengal
e & 3 99 wra d Fae =1 TR sEEE 27
(1) #REvS (2) anfem (3) eeflog (4) uffam s

Which among the following is the most suitable State for location of sugar
industry?

(1) Uttar Pradesh (2} Bihar

(3) Teunil Nadu (4} Madhya Pradesh
ﬁﬁﬁﬁﬁ?ﬁmﬂﬁmﬁ%%mﬁaﬁwm%?

(1) 3o W (2) faEm (3) derg (4) TETTEm
Coromondal Coast of India receives its major share of rainfall during
{1} January-February (2) March-May

(3} June-September (4} October-November

PRINUGE T2 W a9 F1 AT I e 2
(1) SFa-wratt & (2) wd-wd 3§ @) [-REM A @) swzw-Tar §

(1) Giridih (2) Hazaribagh  (3) Kodarma (4) Dhanbad
PG A B #H T W AF T e w3
(1) ffdr (2) wEm (3) Frgm
[4) o
23
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T2. [ : - I
2. Which one of the following is largest lignite coal producing field in India?

11 Singrauk (2] Neyveli (3) Makum [4) Karanpura
frr & & w wme S gen feme e o 8% 37
(1) R (2) e (3) TN (4] FTT

73. The demographic divide in India corresponds with
(1 1911 (2) 1931 (3} 1951 (4} 1971
Wi § TRy fem i w

(1) 1911 ® (2) 1931 ® (3) 1951 ® (4] 1971 ®

74, Which one of the following National Highways does not pass through the
National Capital Region?

ﬁmmﬁﬁﬁﬁqwﬁqmmﬁr%ﬁﬁqﬁgm?
(1) NH-1 (2] NH-4 (3] NH-8 (4} NH-10

75. Chhatusgarh was formed as India's

(1) 2Znd Slale {2) 23rd State i3) 25th State (4] 26th State

FeiETe I T T &

(1) 228 =4 % ® " (2] 233 T % T g
(3] 0sd T & ® U (4) 264 T1 F &1 H

] Valley is @ characteristic feature of
(2) Arid topography
{# Coastal topography

76. Binc
(1} Karst topography
(3) Glacial topography

31) 24
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sy af v fifie sl R
(1) & I=mE 2) g5 I H
(3) feurht s=mme 6 (4) 99 I=EEE it

Scandinavia is a suitable region for development of hydroelectricity due to
availability of

(1) steep slopes {2) huge lakes (3) great rivers  (4) waterfalls
%@ﬁmm@%ﬁm%%ﬁ@mﬁaé,mw%ﬁﬂm
(1) @ et & (2) fowm el B () =R Afd B [4}s_|awaﬁﬁ

Which one of the following is a latent {type of) resource?

{1) Coal {2) Uranium 3] Mineral oil {4} Sunshine
e 1 & #9 w eow dunm 20
(1) HiTe (2) Lifem (3) @F= dw (4) e

Which one of the following is not under the influence of Mediterranean type of
climate?

(1) ltaly (2) Venezuela (3) Central Chile (4) California
ﬁwﬁéaﬂqumam%mﬁaﬁ%?

(1) geeft (2) TSN (3) wer fach (4) Fefwifhy

The largest part of Continental type of climate lies in
(1) North America (2} Africa

(3) South America e . [4) Burasia

25
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1.

82.

83.

(31

T SIerErg F geds Wil SN B

(1) I8 oM | (2) b
(3) sfeefi e (4) D

Which one of the following is known as the carbon sink of the Earth?

(1) Antarctic Ice Sheet (2) Sahara Desert
(3) The Equatorial Rain Forest (4) Taiga Forest
ﬁﬂﬁﬁﬁéqﬁmaﬁqﬁmmm%?

(1) srerkfeR R = (2) WEW WA

(3) forqaatd wemER & @) ¥m =

Which one of the following countrics stands second in terms of per hectare yield
of rice?

(1) China (2} India (3) Indonesia (4) Vietnam
e 3 8§ 99 EE IR 2o IR A g @ gE WM WY
(1) = (2) WA (3} 3TeHRm@ (4) Toraemm

Detroit {USA) is known for its

[1) iron and sieel industry (2) textile industry
(3) automobile industry (4) chemical ndustry

fezive (qoTotle) I S

(1) & @ wow w@m ¥ () 7= 3am % fau

mW:ﬂﬁ%ﬁﬂ (4) WA | &
20
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Which one of the following tropical deserts is located in Scuth America?

{1) Atacama (2) Thar (3} Kalahari (4] Sonoran
A somRedly nee § @ 9 el aife § o 27
(1) IEEMET {2) 4R (3) HTEATER (4) @A

Which one of the following is the most important factor in delineation of a
planning region?

(1) Physiographic unit (2) Demographic heterogeneity
(3} Uniformity of problems (4) Functional unity
mﬁﬁw—wwﬁmm%mﬁmmﬁm%?
(1) y-wgfes (2) FTfeReRr fammran

(3) wAesll Y wwET (4) Frles T

P. Sengupta in 1968 proposed regionalization of India based on

{1} single-tier (2) two-tier (3) three-tier (4] four-tier
Ho WA X 1968 F wRa w WY yERE f

(1) Tty (2) fowrlm (3) Prertia @ el

Given below are two statements. One labelied as Assertion (A} and other labelled
as Reason (R). Select your answer from the codes given below .

(A} The delineation of planning regions must always begin with discovery
of micro-regions,

(R) Micro-regions are easily identifiable,
(1} Both (A) and (R} are true and (R) is the correct explanation of (A
|2} Both (A} and (R} are true but (R) is not
(3) (A) is true (R} is fates
(4} {A) is false (R) is true

the correct explanation of (A)

27
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88.

89.

(31)

A o fm o F) T R FeE (A) R ZW W FA (R) % w0 A o o g1 A
[ A el (£ :
{A}mﬁﬂmﬂﬁmwuﬁﬁm%mmmmﬁm

(B) Y RN YAl ¥ YEAW 1 Fhd el
(1) () 3 (R 26w E W (R), (A) T STEN R
Q) (A) 3k Ry 2wl E TR (R), (A) F wE @mE T 8
(3) (a) 88 B (R) T B

{4} (A) 7o % (R) @ 2

Which one of the following countries derives the highest percentage of its energy
from nuclear power?

(1) Sweden (2} Belgium (3) France (4) Germany
frg 3o # @ a7 orFh I w1 veE vRwW o) RE B Y A AT
(1) W& (2) e (3] FiH (4) S

Which one ol the following pairs is not correctly matched?

State Town
(1) Wisconsin Detroit
(2] Texas Houston
{3} washinglon Seattle

. : Sacramento
(4) Califorma

28
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Frer gl & & 2t qitfem wdf 27

ey TR
(1) R fegiee
(2) e | e
(3) Ff¥mray - Reew
(4) HicTerfda e

If population of an areq is increasing at the rate of 2] percent per annum, it wiil
double in

(1) 37 years (2) 33 years (3} 29 years (4) 28 vears

(1) 37 =i # (2) 33 af § (3) 29 3§ ¥ (4) 28 &§ §

Which one of the following countries hag the lowest birth-rate in the world?

(1) Sweden (2) Italy (3] Monace {4) Philippines
ﬁm%sﬁﬁﬁ%uﬁmﬂ%ﬁﬁﬁﬁrm%?
(1) =ids {2) zeeht (3) TRt 14} ety

Footloose industries are example of

(1) primary activities (2) secondary activitieg

{3) tertiary activities L (4) quaternary activitjeg

29
P.T0,
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P qE T I 3
(1) wafies fSaedl &1 () fedas fommadl =
(3) qdrr Graadt = (4) sgdw frna =

93. Pygmies are inhabitants of

(1) Columbia Basin (2) Congo Basin

{3) Po Basin (4) [rrawaddy Basin

frntrr Frareh %

(1) wFrofemr ¥R + (2) ®t AfeE

(3) T afA & (4) T AR F
94, Which one of the following is not correctly matched?

(1) Downs Australia

(2) Prairies North America

(3) Lanos | | South America

|4) Velds Eurasia

fr % & w it @ R7

(1) T st

(3) @A | gl ST

(@) S°gE ekl

30
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Which one of the following is the cold current of Atlantic Ocean?

{1] Florida current h (2) Agulhas current

(3) Benguela current (4) Brazilian current

= & & I waits wwam 6 3@ 9w 27

(1) ®WiReT o0 () U U (3) T AW (4) SR 9W

Which one of the following is the 'lcadirig producer of natural rubber in the
world?

(1) Thailand (2) Indonesia (3) Malaysia (4} Vietnam
B d ] 9 Ry @ el S o semE 7
(1) urERvg (2) 3vErafimn (3) e (4) Fgaam

Which one of the following National Highways passes through Nagpur and
Hyderabad?

e gt F & w7 e o Ao dow o 4t

(1) NH-1 (2) NH-4 (3) NH-7 (4) NH-10

Lavasa, said to be an eco-city, i§ located in the State of

(1) Himachal Pradesh (2) Karnataka
(3} Tamil Nadu (4} Maharashtra
AT, UF FRE whfERS T, Rm 2 Bl
(1} femrer wam ..  (2). T
(3) g 4 L g

31
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99. Match List—I with List—IiI and choose the correct answer from the code given

below :
List—I (Thermal Power Station] List—II {State}
(a) Ukai (ij Jharkhand
(b) Patratu (i) Gujarat
{c) Pench filii Maharashira
(d) Dabhel (ivj Madhya Pradesh
Code :

CYRN 1= B (T (s
() @) @ Gv (i)
2y G G M (iv)
) I [ vy (i)
4) ) W (i)
1 = i % R SR T AR B g A FE s T

g1 (7m W F3) gel—I (T=9)
() g () FRETS
(b) TaT (i} T
o) 9= (i) TERE
(d) B¥E (iv) WS
£

&) (B @ «
RAT R fiv) ()
(2) @) @ 6 (iv)
@ @ ) W W
(4) (iv) [11) (1) (iii)

a1) 32
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In which one of the following countries per hectare very high yvield of wheat
basically owes to high technological applications?

(1) Brazi © (2) Canada (3) Argentina  (4) Netherlands

P e F A Bt W R R Ro wgE 3 9w e I TR S agwRim ¥
HRoT Bt &7

(1) wiE (2) FATE (3) rkfen (4) ewEvgs
The bulk of railway coaches in india are manufactured in
(1) Punjab and Tamil Nadu (2} Odisha and West Bengal

{(3) Tamil Nadu and West Bengal (4) West Bengal and Punjab
R i et @ aftrn Rff o ¥

(1) v @ dfeg @ (2) *Nfewr w@ sfem e §

(3) oo @@ TRm s & (4) offew s v e &

Which one of the fuliﬁwin,g countries of South Asia is most urbanized?
(1) India (2) Sri Lanka  (3) Bhutan (4} Peligli
gfor v & Fier ot F & W9 Wi g 47

(1) wRg (2) i (3) M (4) wifeeTT

The highest percentage of tribal populatiuﬁ in India is recorded in
(1) Jharkhand (2} Mizoram (3) Chhastiegarih (4) Nagaland
WA H S S gl s aifig §

O weed @ FEE @) o ) s §

33
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104,

105.

106.

31

Which one of the following States of India has the highest percentage of area
under cultivation as well as production of soyabean?

(1) Rajasthan (2} Madhya Pradesh
(3) Uttar Pradesh (4) Maharashtra

wiE % frm oved A @ fred dwm B R % ewwla & awr s M H
v et 27

(1) TSRuE (2) WEASeE (3) I oW (4) TENIE

What distinguishes the humid continental climate from the climate of tropical
and sub-tropical regions?

(1} Cold winters (2) High temperature
{3) Heavy rains (4) Frequent droughts
o T wemm W I A Iaer R A SeEy § e w A
(1) 33 3fa =g (2) IH ATHA (3} wrlt =i (4) FR-TT Tl

The urban population of the world is growing faster than its rural population
because of

(1) high birth-rate in tewns (2) low death rate in towns

(3} rural urban migration (4) high death rate in rural areas
S 3 g e e e @ e o & @ @ R, T

(1) F § 39 FH-T @ T # o @
{3~,mrﬂﬂ1%mfmaﬁ‘inanm (@) T & § 9t g

34
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107. Which one of the following is known as: the steel capital of the world?

(1) Mid-Rhine Region (2) Pittsburgh Region

(3) Ruhr-Westphalia Region (4) Moscow-Gorky Region

e d q w faw R e et $ w0 § 9w w27

(1) T=-Tg 8 (2) Figwet &

(3) W-Iwwlorr g7 (4) wrew-miht &
108. Which one of the following is not correctly matched?

States Manganese Ore

(1) Andhra Pradesh Sonpiirdm

(2) Karnataka Chitradurg

(3} Odisha Balaghat

(4) Madhya Pradesh Jhabua

53§ & o gifm o ¥

g Frftsr s

(1) R - Higw

2) Fiew feprgrt

3} sitfem ; 1 o4

(4) TEmRN g
109. The Ganga Action Plan was initiated in

(1} 1956 {2} 1976 (3) 1986 (4} 1996

i W A -

L |

(1) 1956 # (2) 1976 3 () 19{@,? (4) 1996 #

(31) 35

PT0)



17P/207/17 Set No. 1

110. Match List—I with List—II and choose the correct answer from the code given

below :

List—I (States} List—IT {Shipyards)
(a) Odisha {ij Garden Reach
(b) Maharashtra (iij Hindustan Shipyard
[c) Kerala (i) Mazagaon Docks
(d) West Bengal (i) Cochin Shipyard
Code :

@ ®m (© @
(1) (11} (iii} (iv) (i)
2 ®  Gv ) )
@ @) @ H
(4) {1 (ni) (iv) {i1)
W—Iﬁwﬁuﬁgﬂﬁaﬁﬁqwﬂ%ﬁﬁmg%wmﬂﬁq:

g1 (Ts4) ge—1 (Sara)
(a) atfEam @ e =
(b} WEwTg (i) fegwm fRmard
(c) & (iii) womte St
(d) afem s (iv) FrEA firErd
Fe

@ m @
@) @ v 0
@ O G ) @)
@) @) @ (1) (iv)
@ ) @ B @

36
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Which one of the following is the oldest Department of Geography of the
Country?

(1) Geography Department, Banaras Hindu University

{2) Geography Department, Allahabad University

(3) Geography Department, Aligarh Muskim University

(4) Geography Department, Calcutta University

7 4 3 ¥ 2w = T gow e R 27

(1) ghet R, el fomg Reeafirarem

(2) s feow, e Rrafer

(3) e o, Jrefirg qfem feafim

[4) et feamr, e Rrvafieerr

dwu}-;r:.j: bdc:;og E;;ar;dufn;ar of faults occluring at a place remains in the same
(1) step fault (2} reverse fault (3} thrust fauit (4) normal fault

Wﬁzﬁmmwﬁaﬁ#ﬁwﬂamﬁﬁmﬁfﬁmt,ﬁﬁwﬁ
(1) SoEt sy IR L NG - I R e————

“H'u.
Ruhr Industrial Region is located in |

(1) France (2) Germany (3) , (4} Russia
= i 83 el 3 ey

I"“‘-m
(1) %w & (2) = (3) weit & (4) =g 3
Who among the following constityte the largest triba) &roup of India?
(1} Gonds (2) Todas (3) sanmmg'\w T
] - ; ]
I a7 '

(P.T.0,)
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115.

116.

117.

(31)

s 4 & #17 ymg | gen SAeEE 3 ST 27

(1) 73 (2) e (3) gt (3) o
Who asserted that ‘man is product of Earth surface’

(1) E. Huntington (2) G. Tavior

(3) Carl Q. Sauer (4) E. C. Semple

e o % wy W B gee -y A oI R7

(1} §o ¥fomA @) o ¥ew

(3) F o AR (4) $o o A

Which one of the following forces is associated with ‘Ferrel’s Law’?
{1} Frictionaol force (2) Centripetal force

{3) Coriolis force (4) Pressure gradient force

B wRedl § @ W R B @ oefe 87
(1) oo &=t () kg wa  (3) Ffeifm 9 (4) T T T

Given below are two statements, One labelled as Assertion [A) and other labelled
as Reason (R). Select your answer from the codes given below :

(A) Growth of urban population in India is not leading to increase in the
level of urbanization.

(R) Rate of growth of urban population in India has not significantly
decl‘lned.

(1) Both (A) and (R) are true and (R} is the correct explanation of (A)

(2) Both (A} and {R) are true but (R) is not the correct explanation of (A)

(3) (4) is true (R} 18 Fatst— -
@) (8) is false (R} is trué
38
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ﬁmﬁamﬁiqﬁﬁm[ﬁ]aﬂtwﬁw[R}ﬂsﬁﬁﬁmw%fﬁ
e T g2 & vl 3w yfw .
(A) wra T ween i iy, mtmﬁqﬁ;mm?ﬂil
(B) wra # wlw e & gl § sgea g T gen R

(1) @ sk ® 3 =@ @ (R, ) B ¥R e

2) () 3 (R) I =@ € weg (R), (A) A v =wEN TE P

3) (A) wt § (R) T @

(4) (A) Te R (R} A R

When did the world experience its first major energy crises?

(1) 1968 (2) 1973 (3) 1978 (4) 1983
e 3 w9 wwm sgE o9 ¥ F ADE BT

{1) 1968 (2) 1973 & (3) 1978 i (4) 19&3 ]
Mongolo-Dravidian races in India are found in which one of the following areas?
(1} West Bengal and Coastal Odisha

{2) Rajasthan and Kashmir Valley

{3) Himalayan Region a'nc‘l”hssam

{4) Gujarat and South-West Madhya Pradesh
ﬁﬁ-ﬁ%ﬂmﬁﬁ%ﬁﬁﬁﬁﬁﬁﬂéﬁﬁﬁiﬁﬁ??

(1) o o AT AR (2) T W i O
3 el @8 @ o R P

39

*.10)



17Pf207 /17 Set No. 1

120. Which one of the following pairs is not correctly matched?

States Iron Ore Mines
(1) Kerala Kozhikode
(2} Karnataka ‘Bellary-Chitradurga
(3] Odisha Namagiri Hills
(4} Maharashtra Ratnagiri
fre gt 4 & w7 gafw & 27

=g e e @
(1) e Freater
(2} AT S -fergt
(3) Afewm TR e
(4) mEmTE ;o T

* R ®

40 D{7(31)—1133
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(39 fE® & TR FE-TE T oAy -9 & el JE W Sgel Alel W SRl |m-Ene W3 f )

10,

11.

12,

£3.

14.

LT ffem e 7 oo fime o s R @ A T oywwm 4 wft g oA @ oo oW

Fo W R ot dmgew vd 9 T Wl e dem wa-Fiew @ i wee e #
il gferss g &l |

T A T e T wRw-vT & s, Ta W W 9% W we wE ¥ 71 A

T-Ts M R e own ¥ og@ 7 @ AT o 7 & fagw w0 gow Iov-vF TE few wdm dEe Imi-
v # O qoqEa fFm A

HF HFEAE G4 IW-TH F OFWE AW w33 Wi R fwifw om w fd

T Ok wm UE w W A v e fuffe wm w fd aw A R g9 | e o A
wE-WE SEvE € 96 g-yfee B wEe ad 92 w1 rer I wEw oW fed

e THe 3ie TH W IAENE TEw, wE-yfd FEM A W2 dEn (A w6 F) oW -y W
FES He IR e Ao Re TH Fo w whakd ¥ Ifermm @ sAfn W #) '

srfw wisfd § = 1 slads @ O g wafm 2 wfed s 7 oF AR TR W W

. TE-TEAE U OwEw av & oo SEierE Tw A W ) rRtw gv & defeve W @ fod s It

vy F} geafyy vhr & At o g9 ® v & 9qm YW W R rd e F aqem o 7 e
FA B

wdhis U % aq & o0 el U @ T W T w0 uE § afE o W omm R0 W adm O
0 H AT T W oA wH el FEL S

o ¥ TR TR W W g ot el weell e W med 8 e o fEe v Eﬁ??ﬁﬁﬁﬁ:ﬁ‘
B A wmtwm dfs % omy A owd ge @ weh 9 2 T ol WOy 9 @ s

o % T v R ¥ TaT § oA AR Y8 A eifm g oW wEm st
T & TR FAE HloTHedwe IW-TF When wEs ¥ FH H <
e AT A1 @ TS W wES B o= W # SpEE Tel er |

afz g sl vhen A sfm W @ v wa @ T favafamer g feife 4 w0 Eii
Zmant



